—_ L L s = H TH bl = = FEE - [ ZIEE i Zr - =1
RTQOX) S MENEERESLHREIR PCH BN FHHE-RHX rg;g’;;,:E;fi;?;,;%;i%fgﬂlj;‘:g)’?ggi;;;?fﬁgﬁg’gigg&E”2' VAT @R IENE - A - REXE
4 A il EZ = 54 ETIEI EXH = 68 ETIE| E35 = 78 ETIE| E3E = ETIE| E3 = 9H EZ =
EE B |#EE YSEEBIE I BRI e LSRN EE = =R W§_H_¢$HE$IE = eIt YEREIE = —— B [hEn LSRR EIEE =R [ hEE LEERE
1]k [l ES B 1B B e 11k HERZE 1 118
2 [ K 2 [ £] 1 2 1A 2 |k 2 2 [ &
3| K 3 | 1 3 | K 3 | K 3 3 | K
4 | & 4 1% 1 4 |k 41 & 4 41K
5 | - 5 | & 1 5 | K 5 | = 5 5 | £
6| H 6 | Ik 1 6 | & 6 | H 6 6 | -
718 A Ed I 71+ 718 7 718
8 | X RER 8 | K1 1 8 | H 8 |k 8 Z&H 8 | A
9 [ Kk 9|l &) 1 9 | A 9 | K 9 9 [k
10| K 10| + 1 IR BRI 10 | & 10| K 10 FRET 10 | 7K
11| £ 11| B 1 R B R 11| 7k 1] £ 11 PRET 11| K
12 £ 12| B 1 1k (4/26) 12l K 12] 12 FRET 12]%
13] B 13| % 1 13| & 13| B 13 PRET 13] +
14| B 14 | 5k 1 14] £ 14| A 14 FRET 14| B
15 | & 15 ] K 1 15| B 15| & 15 PRET 15| #1
16 | 7K 16| £ 1 FEEE 16| A 16 ] 7K 16 FRET 16 | K&
17 | K 17 = 1 17 | K 17| K 17 #hig7ES m| 17 | 7K
18| £ 18] B 1 18| 7k 18| £ 18 Rk (7/26) 18| K
19| - 19| A 1 TEEE 19| K 19| + 19 19| £
20| B 20 &1 2 hREEE 20| £ 20| B 20 20| £ HEBAKS
21| B 21| Kk 1 21| = 21| & 21 IpER 21| H WEFAKE -
22 | & 2| K] 1 22| H 22|k mER 22 22| B
23] 7k 23| £ 1 23| B 23] K 23 23| #
24| K 241 £1 3 24 | & 24| K 24 24 | K
25| & 25| B 1 25 | 7K 25| & 25 Rk (8/17) 25 | K
26| + Z&H 26| A 1 26 | K 26| AREBRAZE 26 26| £ THEEER
27| B 27 | ] 1 211 & HHEREE 271 8 27 27| £
28 | A 28 | K] 1 28| £ 28| A 28 28| H
29 | % 2] K1 1 29| H i ES M 29 | & 29 29| B FHEEE
30| K EES I gegws] |30l A gEE#E] |30] K 30 30k hEEE
31| & 3 12 SR ARA 31 | K 31
EHE E& FHE S HE S =& FE S & R
HHKEH 8 0 EHAEH 8 0 EHREH 9 0 HHKEH 3 0 HHREH i4 0 HHIKEH 6 0
KEREH 9 0 KBEAREH 8 0 RHRZEH 7 0 RBEAREH 8 0 AHRZEH 11 0 KE®REH 6 0
TH SRR R 1.0 #DIV/0! T BRI 1.1 #DIV/0! THEE R 1.0 #DIV/0! T B 1.4 #DIV/0! T E BRI 1.2 #DIV/0! T H R R 1.0 #DIV/0!
KEEEERIEY:  #DIV/0! #DIV/0! 1A B A SRS RS 1 3.0 #DIV/0! 1A B & BHRE R 1 3.0 #DIV/0! K B AR R 1y 2.0 #DIV/0! KREEEERIER:  #DIV/0! #DIV/0! A B & B R 1 3.0 #DIV/0!
108 FTEl ESH - 118 ETE ESH - 128 ETE S - 1H EHiE ESH - 2H AHiE S - 3H &l ESH -
A El e el [ =1 G ST T Rkl B =R EEICT Rkl B N Tt Rkl [ IR o nma] | [ B m | am [waa| wm aea] | [FEGED
1] K 1|t B AR 1|1 A HEREE 1 1] H 1|8 1 EHiE
2 | & AEE makaA - 2 [ & 2 21 8 2 A1 1 E
A i 3 K eEZRE| |3 3 [ 3 a1 EE 82
4 |+ 4 | & 4 | K QIEFHRAT] 4 4 | K 4 1K) 1 REFEH
5 | H 5 | K 51 & QIEZHRTT] 5 5| K 5 | &1 1 EX5
6 | B 6 | K 6 | + 6 6% 6 |&] 1 BRI
7% AR 7 e 7 PEER T+ 2 — R AE 0
8 |k 8 |+ 8 | A8 8 8| H gl A 1 ]
9 | K 9|l B 9 |k 9 918 9 1AL 1 4K (3/7) KBARER
K3 SHBE ISR 10| A 10 | 7K 10 10| X 0]kl 1 BEiREE ETE
1] £ 1] 11 K 11 D 1ok 1 EREE
AE 12 [ K 2] % 12 RAES AES BREL 08
13| 8 13] K 13| & 13 13| £ 13| 1 BRE
14| K 14| £ 14| B 14 14] + 141 1 1 e
15 | K 15| £ 15| A 15 5] 8 58] 1
16 | & 16| & 16| X 16 16| B 6] Al 1 AL 0
17| & 17| B 17| K 17 17|k 170 k] 1 BEREZIE
18| £ 18] ik 18| K 18 18 | 7k 18] &l 1 FRIRE
19| B 19 | /K 19| £ 19 19| & 19l KL 1 FRIRE AKEBEE
20| A 20| K 1 20| + 20 AIEAA R P ES 20| %Hm) 1 StiE
21| & 21| & 1 21| B 21 21| £ 2011 1
22 | 7k 2| + i 2| B RER 22 2| 8 2la] 1 180
23| & 23| ¥ 1 23| X 23 23| 1 23| A 1 BT BER
24| & 24 | i 1 24 | k 24 24 | 24 | k] 1 Ed
25| = FRR 25 | & 1 25| K 25 25| k FEXRER 25 K] 1
26] B 26 | K i 26| & HRmD 26 26 | & =rxza]| |26 A | O
27| B 4k (10/25) 27| K 1 HEREE 27| £ 27 27| & BERER 211 & 1
28 | X 28| & 1 HEREE 28| H 28 EEEE 28 | + 28] £ 1
29 | k 29| £ 1 2| A 29 EEED 28] 1
30| K 30| H 1 30 | & 30 EEEE 30/ A1 1
HIEIEE I 31 ] 7k B 31 I 31l 1
lllll [E] =i BT =i ETIH =i ETIE ES AT =ig ES
THREH 2 0 THAREH 8 0 THREH 6 0 THAREH 7 0 THREH 11 0 FHAZEH 0
RHARZEH 9 0 RHAZEH 11 0 RHARZEH 8 0 AB#xEH 11 0 RHARZEH 10 0 AHRZEH 0
TH BRI 1.0 #DIV/0! T E BRI 1.0 #DIV/0! THE B R 1.4 #DIV/0! T E B R 1Y 1.0 #DIV/0! T E BRI A 1.0 #DIV/0! Bl=brgolic R #VALUE!
REEBESRITN:  #DIV/0! #DIV/0! KEEEHERTY  4DIV/0! #DIV/0! KEEHE/RTEY  #DIV/0! #DIV/0! KBESEMTY  4DIV/0! #DIV/0! KEEEERTY  #DIV/0! #DIV/0! 1K B BB RI T #VALUE!




